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1. REEBOL
(1) #¥EIINE
OEKRBHEERR 7,143,873 0 7,143,873
Q= FE Uk 0| 5,139,795 533 5, 139,795, 533
OL-E: e 0 82,514, 881 82,514, 881
O E 4,470 3,519, 7117 3,524,187
ORI S DEAEE 6, 000, 000 0 6,000, 000
BEUEE (A) 13,148,343 5,225,830,131| 5,238,978, 474
(2) BEEH
OEE -1 16,000, 000| 2, 246,041,595 2,262, 041, 595
QEBE 161, 585 67,345, 673 67,507, 258
@ /N EEEWRE B A H 0 1,287,939 1,287,939
@R ENE 0| 1,428,366,629 1,428, 366,629
OEMETEEEENE 0 30, 251,118 30, 251, 118
CREEENE 0 0 0
DERIGIHERA 0 0 0
REBRHT (B) 16,161,585 3,773,292, 954| 3,789, 454, 539
LR EEEE (C=A—B) A 3,013,242 1,452,537,177| 1,449,523, 935
2. BENEFEDER

(1) BENINE
DEEGILERA 0 50, 386, 302 50, 386, 302
QFFrEEEITRE4E 0 100, 000, 000 100, 000, 000
QRTHAS E & 0 0 0
EENIREE (D) 0 150, 386, 302 150, 386, 302

(2) BEHNER
DEEEX 0 51,026, 874 51,026, 874
QEEEEKREE 0 6, 000, 000 6, 000, 000
QEAERFE 0 456, 516, 500 456, 516, 500
BRENEAE (E) 0 513, 543, 374 513, 543, 374
LERESMERE (F=D—E) 0| A 363,157,072| A 363,157,072
LA — AR IE LR B EEIEIR%E (G=C—F) A 3,013,242| 1,089,380, 105 1,086, 366, 863
— R ERE EHEERS (H) 10,183,285 3,862,170,194| 3,872, 353, 479
—MRIEKBAEMAES (1 =G+H) 7,170,043| 4,951,550,299| 4,958, 720, 342
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EAXGEERAE 7,143,873 0 7,143,873
EARBERNBILA 659, 555 0 659, 555
RN PrbsIER 6,484, 318 0 6, 484,318

— R IERBAE~DIREEE 7,143,873 0 A 7,143,873
— B EANDRE 7,143,873 0 A 7,143,873

LR EIERBABEIERIAE (J) 0 0 0
BEEKRMEHERS (K) 768, 274, 300 0 768, 274, 300
EEERMERRES (L=J+K) 768, 274, 300 0 768, 274, 300
I ERMEHRES 775, 444,343  4,951,550,299| 5,726,994, 642




